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' _INS"I RUCTIONS -

AnSWers to this: paper must be wntten on the paper prowded separately
« You will not be ailowed to write durmg the flrst 15 mmutes e
.'_.' This ttme is to be spent in readmg the questton paper, . ' I ‘1_ LY '

o ~The tlrne gtven at the head of this paper |s the tlme al!owed for wrltmg the
'answers '

e J’Attempt seven questlons in all _
e Partl is compulsory AII quest_!crts from Partl are to be attempted
: . V.A total of five questlons are to be attempted from Part . . _ _
- The mtended marks for questlons or parts of qLestlons are glven in braokets .

ftL

PO

To be- supphed Wlth th|s paper Survey of India Map Sheet No 45 DI10 and
20cm of twme L ‘

NOTE:

.';t_,_ln all Map. work by a wise use of arrow$ to mdlcate posutlons of countrtes,"
| .c1t|es and other msertlons that you make, you W||I be able to. avmd-

’ overcrowdmg parts of the map

PO

'Q_- _-_The Niap glven at the end ot’ this questlon paper must be fastened WIth your. :
- _}answer booklet L

-+ All sub-sections of _eaoh'éiuestioh'must-beansw'e"red in the: correct order.
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Question-i '
Study the extract
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PART 11(30 Marks)

(All questions are compulsory)

e ) ‘ DI7 -a'nd answer
of the Survey of lndlat“ﬂap‘Sheet numher 45 DI7 nd.

the following questlons (2004)

a)
i sy 217
B -"r?) ~Chhatri near vrllage Juvo! 2]
‘What is the most important promlnent feature seen in the bed of the main nver_ |
-.and how it rs formed’? _ e e _ [2]
'6) . Whatis the general direction of Arado Nadr’? lee evrdence for the same’)_ _ [=].-
) ; Calculate the dlstance along the cart track from vrllage Ranol to Vetavas - [2]
e) i) - Whatis the main reheffeature seen’in the grid square 9284 "_ o | o
) ‘Whiit does?r ini grid square 8689 indicates. .7 - 2]
1) Brhg out the drfference between: the dralnage pattern in gFld square 9388 and
. 94857 UL ST O PR R
_’g-))ri R _Name and explaln the term uaed for brown 1rregular Imes and the dlglts writtén |
" in brownmbetweenthese lines SR, .'. . .': C 27
"h) What is the general occupatlon of the rnap extract Justrfy your answer. | [21 -
i) Write the type of rainfall recelved in the regron" lee reason for your answer. . [2]
| ) ‘Name two types of vegetauon found 1n map . extract lee four flgure grld
o reference for each,” B e - _‘ ‘.: TR L R =]
" Question.2- )
- On fhe outlme map provrded A _
| a) ‘Label the longest river of south lndra - o S DT ]
. b) ':Mark and label direction of retreatlrg monsoon wmds . R = 1
Y cj_ . ‘Mark and label wrth a red dot the crty Iocated on sangam o o 1
‘d)_'-" . Mark dnd 1abel the moUntams Sltlldted between Narmada and Taptl nvers 5 1]
"e) ,‘,Markandlabel |TCap|tatofInd|a LT Lo (1]
- Shadeé and Iabel the plateau that is the source of the Black SQII ln Penlnsular
-~ India.. - e . S . 1
. 9) _ Area oflowdensnty in’ North East lndla Lo SRR i }
h) ._Mark with a bold dot.and Iabel a place Whl"h is lmportant Shlpburtdlng lndustry
S n the east coast of india. .~ - - e T M AR )
)T Mark afid label mountarns hich form. rain shadow area in Westem Rajasthan [’ﬂ" )
Konkan Coast . o T B _;' : S

)

Give the six fgure grid reference of the. followlng
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PART Il (50 Marks)

O s o

(Attempt any five questions from this part)

H- 1 3@ H
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_Questton 3
a)  Distinguish between Kalbaisakhr and Mango Showers. [2]
b) " Which parts of Indla generatly remain dry during advancrng monsoon season
and why?. ' - | - [21
) Grve reasons for each of the followrng
) Monsoon winds are known as the seascnal winds
i) The wrnds are dry and offshore dunng winters. - R
. m) B Chennar has a lower range of temperature tharrLucknow 9]
Study the table below and answerthe questron that follows:- 5 " ‘
" [station | Month | Jan Feb “Mar’| Apr | May. Juna | July | Aug T Sept | -Oct 'No.'v Dec
: A re_rnp?c 12.7 | 15.1 | 2214 :_31_:8'- 37'2: '39.1 ‘_357;3 "33.';1.' 28 | 267 .‘1s.'1 13.6. '
" [Rain(em) [ 21 | 23| 1.0 [ 09 [ 1.5 | 56183 189151 ] 06| 03 | 1.8/
: | Temp°C as.t. "24.8 | 26.5 293 | 32- .32.8 | 331 32.1 30.5] 293 | 28.7 | 26.1
B rt_arn(crn) 1‘5.'3< 1ou 03 [0 [ 13 ;4.5[ X 0.2 "tots"-__é'o;1-_ 6.8 19.0]
. Calculate the annuat rainfall- in Statron A
i) "'What is annual range of temperature rn Statron B?
': itv'r) -‘ Name the wrnds that brmg most of the rarnfall to Statlon A. State one ]
- 'reason for your answer ‘ g [3] - :
"_'Questron4 o .
a) What is the srgmfcance of soﬂ as natural resource'? - I2]
-lee reason . . , ‘ ‘
‘i) Alluvral soil is marnly found in Northern Plams )
i) = _' Laterrte is rnfertrle soil. el - 1~t2] .
c) Wrth reference to, Regur sori answerthe followrng
| ) Two states where rt is round
| n) o Name any two crops grown in rt " o
i) Any tWwo characterrstrcs . - A _'[3}
" d) Answer the fol[owrng L
) How does the Shlﬁlng agnculture affect soil fert|l|ty’7 ) .. ® : .
‘ ii) 'Crop Rotatlon hetps in retamlng sorl fertrhty Justify the statement o [3] :
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Question 5
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a) Distinguish between ‘Mois! Deciduous forest and Dry- deciduous forest'. [»2]
b) Name and gi\)e' rnedic‘rnal rmportance of any two trees which are found in
B Troprcardesertforest ' | _“'- = '_ 2
c) With the hel’p of oefmmon bnng out the drrference in the foIIowrng lerms
. D) Deforestatron L AN '
ii) Afforestatlon ‘ Lo
. m) Reforestatron ;"_: L : , AR (3]
: d) | Suggest and brrefly descnbe any. three measures for the conservatlon of forest e
J:Questronﬁ SR :
. - a)  ‘Well lrrlgdtron is conﬁned malnly to aﬂuvral plarns Justrfy the statement
- 'b)': - Nametwocanalsystemforeaeh o TN & [2]
o T, 0. Punjab and Haryana - -~ S B ' o
if) Uttar Pradesh ‘ _
o);}{ : ‘What constrams of conventronal methods 'ead to the ulrhzatlon of modern |
& “irrigation methods e T e T BT
';,'d)“’ f_Wnte drfferent Iocal names glven to. raln water- harvestlng in” the. foltowmg
ﬁ 4.:‘-"1' region:. ' _ ;
T '.i)-. ) Western Hlmalayas
11) Gangetrc Plains L o _
oo m) Western Ghats .- £ E - i I o [3]
Questron 7 EU EEEI e
3 What are the drawbacks ofcoal found in Indla‘? L C S '[2]-.
N ) S _Name two ooastal oil- ret"nenes one on the west and ohe en east coast of lndra 21
c) - . i)_ Name an ore ofalummum : o L _ |
' ) Wnte anytwo uses of alumrnum . . ' R _ _ R f[:'_;]_:
d) - Write-any three characterrstlcs ofeach Black' and Red ore ‘[3']. |

o~

Why is the government of Indra promotlng use of organic fertlllzers'? S @A

- a)
b) Compare geographlcal condmons surtable for the cultlvatlon of wheat and rice [2] -..- _
€) . leeReason . A e R .
: ;_ger;l_) _ 200 frost free days are necessary for growtn of cotton plant =T
.'Hiij;.' : Ftoods are beneficial for jute cultivation. )
'-i:ii)‘ - Soil is supplemented with m'enure's and nitrogenous 'f:ertilizere._ - : [3]. ;

A

Scanned by CamScanner



WA n:@m

H1oH
d)  With reference to tea oultivation,ahswerthe'foilowing:
) - Why hill slopes are more suitable for tea cultivation? '
) "State advantage of pruning. ' |
‘:“). | Wiy fermentation is necessary in tea processing. | _ ' (31 -
Question 9 | |
a)  Wiite any two by- products of sugarcane and uses of the same. - Nl
b) . Give Reasons: o | _
). - Punjab IS the Ieadmg state in the manufacture of woolen goods - R
iy Shortaoe of raw, materlal for ootton Textlle lndustry EE g - '[2];_: '
C) fAWlth reference to the cotton textlle lndustry answerthe followrng ' | ‘ _
o |) Why Ahmedabad Vaoodra Reglon attrac*s partrcularly cotton textrle
- rndustry’? o | o » L
ii)\ - Name any two leading l,enters ofthrs reglon . . | R

dy Explaln bneﬂy any three factors whrch promote Jute mdustry around Kolkata. - [3] o

Questlon’lo ' . [ S
| a) .- "\lnte ar'y two far‘tors which favour the dev clc,pment of shlp bu1ldmg lndus'tryf_ - [2]_. :
- b) . What raw. materral is used in Iron and Steel 1ndu try’> '- o [2]
) ‘WIth :eference to Vlsvesvaraya Iron- and steel plant answer the following: s B [31
o ,'i) b Loc:atlon '
i) -~ Source of hydroetectrlcrty

1D _Products . '
-d) Wnte the centre for the foitowrng companles and the produots lhey produce

_i)' ' Marutl Udyog limited
i) Mahmdra and Mahrndra o
' iii)‘ lesan '

QUestron 11

-a) ;. What are *he effects of Acrd Ram and whrch monument is affected by acrd rain .

i India? - , : . @2
R . thl is the mportqnoe uf oadways rn IPd.a'? Clve two reasons.” = [2] '
S - Why fail transport is more comfortable and popular in India. State two problems -
- _-faced by Indian Rallways [3] -
_, dy 0 What is mcrnera‘uon’? ‘ S 5
- i ) Gwe two advantages of usrng ESPs 31
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